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Question 1.Select the related word/letters/numbers from the given alternatives:

& 72 faewedt 7 @ Hafeerd eree)sarl/aear & gfav
Cytology : Cells :: ? : Birds

SITRNEhT TAATT : IR 22 2 : ga&fr
Options:

1) Odontology

KIS

2) Mycology

FHaeh T

3) Etymology

s AT

4) Ornithology

gefifazne

Correct Answer: Ornithology
gefifazne

Candidate Answer: Ornithology
gefifaaeT

Question 2.Select the related word/letters/numbers from the given alternatives:

& 71 faemedt 7 @ Hafeerd eree)sarl/aear & gfav)
RIGT : WDBY :: FUSH : ?

Options:

1) PKIQ

2) BYWD

3) DXWB

4) QKR

Correct Answer: BYWD

Candidate Answer: BYWD

Question 3.Select the related word/letters/numbers from the given alternatives:

3 1 ol & @ Hafere e 3taRly/dear # g
42 :56::110:7

Options:

1) 18

2) 132

3) 136
4) 140

Correct Answer: 132
Candidate Answer: [ NOT ANSWERED ]

Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.

TArATAf@T et # foT 1w faehenl 7 & fawe erse)/ 3rer/aedm i AT ?
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Options:
1) Rupee

W N
geasy
S c

a

4) Currency

E

Correct Answer: Currency

E

Candidate Answer: Currency

O

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

TArATAf@T eet # fow 1w faehoul & & fawe erse)/ 3rer/aen 1 giav ?

Options:
1) DAEH
2) KIMP
3) HEIL
4) FCGJ

Correct Answer: KIMP
Candidate Answer: KIMP

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

FATAR@T Teet # 2T 10 faemedl & & Tawey eree/ 37ar/EEam 1 YT ?
Options:

1) 43-6

2) 28-4

3) 50-7

4) 36-5

Correct Answer: 28-4

Candidate Answer: 28-4

Question 7.Arrange the following words as per order in the dictionary
TAFATATET 2sel T erecehiel & feT 1T 3 & TR fof@w ?

1. Direction 2. Directed 3. Director 4.Directing
Options:

1)1,4,3,2

2)2,4,1,3

3)4,2,3,1

4)4,1,2,3

Correct Answer: 2,4, 1,3

Candidate Answer: 2, 4, 1,3

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TArATAf@T Teat & Ueh 3iefeha T a2 B, FSraet veh ue ovd &1 ferw a1v fashodt & & ag @61 fashed fAw it 3fegshat sl g1 Y ?

IGT, JHS, KIR, LJQ, MKP, ?
Options:

1) LOP

2) NOP

3) NLO

4) LNO

Correct Answer: NLO
Candidate Answer: LNO



Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TAFATIRT goet & T Jiefshat fem 1T B, FHaal Ueh v et &1 U 10 fashedt & & ag @Y fashew IfAT St 3gshad I QU ?

6, 10, 18, 34, ?, 130
Options:

1) 78

2) 52

3) 66

4) %94

Correct Answer: 66
Candidate Answer: 66

Question 10.Introducing Reeta, Monica said, "She is the only daughter of my father's only daughter." How is Monica related to Reeta?

ﬁaﬂqﬁazrmﬁgcmﬁwﬁw, " g AR AT BT UhATT G T TR G §1" Hiferent T Qe W AT Fer § ?
Options:

1) Aunt

ardy/ Ay /A

2) Niece

EeERIE

3) Cousin

TR [ FRY TgT

4) Mother

A

Correct Answer: Mother
A

Candidate Answer: Mother
aAr

Question 11.In a row of students, if John , who is 16th from the left, and Johnson, who is 8th from the right, interchange their positions, John becomes 33rd from left.
How many students are there in a row?

SE] T Ueh Giad & Sl 91 F 164 LU W &, 3R FidqeT , 3t aifeet I 8 LA U &, 39T - 39T T RE dof od & | SiieT a1 & 334 T W &) Srar | 9ffa
Fel vl B E ?

Options:

1) 38

2)39

3) 40

4) 41

Correct Answer: 40

Candidate Answer: 40

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:
TArAfaf@d fashedt & & g8 2ee AT St few 31T Ase; & 3R T THWT Feh 161 1T ST Fehell ?

ADMISSION

Options:

1) MISSION

2) DISMISS

3) MASONS

4) NOMADS

Correct Answer: DISMISS
Candidate Answer: DISMISS

Question 13.If in a certain language TEACHER is coded as QBXZEBO, then how is STUDENT coded in the same language?

i, e faTRISe 1T # TEACHER T QBXZEBO & 9 # Fcishel 13T a1aT EIclt 38 $9T & STUDENT &1 & Fhéiehel fham STeam ?

Options:

1) PQRBAQK

2) PQRABKQ

3) PQRKBAQ

4) PRKQBAQ

Correct Answer: PQRABKQ
Candidate Answer: PQRABKQ

Question 14.If 'x' means addition, '-' means division, '+' means subtraction and '+' means multiplication, then which of the equations is correct?

T x T HcToTel 13T B, - T FcTold HET &, < T Hclold BT 3 + T HAcold 0T 81,0l a1 7 & HleT-a1 T Jer g ?

Options:
1)16x5+10+4-3=19
2)16+5+10x4-3=9
3)16+5-10x4+3=9
4)16-5x10+4+3=12



Correct Answer: 16 +5-10x4+3=9
Candidate Answer: [ NOT ANSWERED ]

Question 15.If 4 x 5 x 2 = 524,
3x7x2=723
and 6 x8 x7 =876

then9x4x5=7
IE4x5x2 =524,
3x7x2=723

3R 6x8x7=8768Y,ar

9x4x5="?

Options:

1) 495

2) 459

3) 549

4) 954

Correct Answer: 459

Candidate Answer: 459

Question 16.Select the missing numbers from the given responses

f&w a1v et 3 & oot 3ieh e AT 2

43 | 25
21 |40 |35
35 |34 |28

~J

Options:

1) 36

2) 46

3) 40

4) 26

Correct Answer: 36

Candidate Answer: [ NOT ANSWERED ]

Question 17.Johnson left for his office in his car. He drove 15km towards North and then 10km towards West. He then turned to the South and covered 5km. Further
he turned to East & moved 8km. Finally he turned right and moved 10km. How far & in which direction is he from his starting point?

SHieTHeT 3eT AT & T FR A =l | 9§ 3ea? @1 3 15 .3, =ra, Tt 10 7R3, aftess $r 37 =en, [ ag afator 61 317 731 3R 5 T, <o) 56 a1e a8 q@ &
3R 731 3R 8 R.#M. Tell| Hecidl: Ig enfge? HzT AN 10 foh. . Trem| S foeg & g e 2 36 g & 9 bl T ¢ IR ra e &7 & 2
Options:

1) 2 km, West

2 .. giRaH

2) 5 km, East

5 @R 9@

3) 3 km, North

3 R seax

4) 3 km, South

3 .. gfaror

Correct Answer: 2 km, West
2 .. giRaH

Candidate Answer: 2 km, West
2 R, aftes



Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: 1. All stenographers are lazy. 2. Some men are stenographers.
Conclusions: I. All lazy people are men. II. Some men are lazy.

FAfAfET v & ts a1 e aFded o T &, foraes 3T &) Asas/AmTdT, I 3R I [Fehrer a3 &1 39! faaR e & o aoFded dcd § 9 98 IHead: A d azai J
et Tl 81aT @11 39! T et & 7 RU a1 derced & @ shley-ar AR &7 & 68 s/ Aeadr ool o @ehar g ?

aFAeT 1 1. B WA G 81

2. FS 3TeH RAIH &

forsend : 1 @elh e oiter 3meah €1
11 F& e g& &

Options:

1) Only conclusion I follows

Hae sy I T

2) Only conclusion II follows

Fae sy 11 Tgr g

3) Both conclusion I and conclusion II follow
sy 131 11 =t w81

4) Neither conclusion I nor conclusion II follows

AT ar forseny I Y & 3R a7 & fseny 11 T €1

Correct Answer: Only conclusion II follows

el sy 11 |8 B

Candidate Answer: Only conclusion II follows

Fad Ty IL @dr &

Question 19.Four positions of a cube are shown below. Which color is opposite to white color in the given cubes?

Ay el Tt i IR 31aTUTT gRiiRft Rt §1 T T uet 7 Tthe 9T & S Treet FeA-ar LT R ?

TED RANGE 7 WHITE | RED

GREC
WHIrE

WHITE

ELUE

YEL|OW YELLOW

‘Jr'Hf E
[

ORAMGE.

Options:
1) Orange
ARE

2) Blue
wArem

3) Red
offel

4) Yellow
e

Correct Answer: Blue
e

Candidate Answer: Blue
e

Question 20.Which one of the following figures best represents the relationship among Kitchen, House and Garden?

RrAfaf@a & @ i @ e W@iS, =X 3 99l & e v geficdr § 2



4)
Correct Answer:

Ol@

Candidate Answer:

Ol®,

Question 21.Which answer figure will complete the pattern in the question figure?

FHleT-TT SoclX 3Tt TR SMFTA o FTTed T T I 2



Options:

1)
N
2)
3
3)
G
4
e
Correct Answer:
G
Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& 9T 3T JTpTerat 7 A 3 Seal Il F v e ve rphar ARk &2




Options:
1)

Q¥

2)

3)

4)

5
&L
5

Correct Answer:

5

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

I Ry FraTet a1 ol FamTT 1ot & 3TTHR HISH hieT ST df Gielet & 18 a8 v 3ea¥ 3o siar s & ?




Options:

1)
. ‘e
‘. —
N
Pe Lo
2)
3)
EEmamma=s
| ik m
| |
T
: L
T ] |
[ 1 | |
4)
T
]
! 11
i |
T
Correct Answer
T
o]
111 |
t 11
[ | |
Candidate Answer
-
]
! 11
i S |

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I T ZoT HT MN TE@T TR T@T ST A & 78 Seak Tt & § HieT-Ar 3T sreat 3 a1 wer wfafe gefr 2

]
[ ] AR NN |
4 OO
- _L_L_‘.-:"f"}-—'_'f_,_._ —
1 HH |
SN
|
| |
/1 | |
#
N




Options:
1)

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'P' can be represented by 02, 13, etc., and 'A' can
be represented by 57, 68, etc. Similarly you have to identify the set for the word 'GUNS'

At weet 7 faswedt 3 RT a1v Fear-wg, 38w & & 991t gany grffT 970 §, i fon oy few a1w aF smeggt # 81 3megp | & Sams iR dda fraear o w4 aw &
TS E, I IMIE 1 & 58 9 T, 57 ITSTET ¥ Ueh 78R I Tgel 3T Ufard 3T A1G 7 TI#97 TEAT GaRT SRITAT ST e § | 3ETGN0T & Torw, P &t 02, 13, 3177 garT g=frar
STT T § AT A I 57, 68,311 SR i ST HhelT &1 38 e & 39! T 2reg 'GUNS' & AT wagg 1 wgermeia g1

o |1 [2 |3 |a .is 6 |7 |s |9
o |s [ulp [E [r 5 |6 L [a [N |D
1 R [s [u P |E 6 |o G [L |A |N |
2 |e |r |s |u |p 7 [N [o |6 [t |A
s |p |E |R |s |U 8 EA NEREED
a4 |u[p [e [r [s 9 :L A N D |o




Options:

1) 88, 23, 59, 33

2) 66, 40, 67, 11

3) 55, 34,77, 44

4) 99, 12, 86, 22

Correct Answer: 99, 12, 86, 22
Candidate Answer: 99, 12, 86, 22

Question 26.Which one of the following countries is not a member of the "BRICS" group?

TFATaTT # ler-ar 227 fSere 9 &1 Jeeg =g & ?
Options:

1) Brazil

SToiter

2) Russia

*q

3) China

GIcH

4) Indonesia

ESoiRu

Correct Answer: Indonesia
EECIRE

Candidate Answer: Indonesia

EEEIRe

Question 27. 'Do or Die' is associated with which of the movements in India's freedom struggle

HIRCATT T FATA F 'R AT FRY' T AR R ITeeleld T 3T T ?
Options:

1) Dandi March

&IEY T

2) Non-Cooperation Movement

3TEANT =g ot

3) Khilafat Movement

TEeThd Mealele

4) Quit India Movement

R DIST HTegreld

Correct Answer: Quit India Movement
R BIST HTegleld

Candidate Answer: Quit India Movement

AR BIST 3Tealeled

Question 28.'Parsec’ is the unit measurement of

e fraehT A9+ Sh1s § ?
Options:

1) Density of stars

TR T FEeTdT

2) Astronomical distance
@ g

3) Brightness of heavenly bodies
GaerT et i 97

4) Orbital velocity of giant stars
TALMTRRT TR T HETRRT AT

Correct Answer: Astronomical distance
feplici R

Candidate Answer: Astronomical distance
T gl

Question 29.A collective term used by the Jains for their sacred books is

Sifert garT 3r9er 9fdT Il & fv arefees w0 & fone arsg T ST foma ST § ?
Options:

1) Prabandhas

EEL

2) Angas

39T

3) Nibandhas

ey

4) Charits

afa



Correct Answer: Angas
30T

Candidate Answer: [ NOT ANSWERED ]

Question 30.Which one of the following is not an instrument of Fiscal policy?

AT # Pl [aecdtar Aifd 7@ § ?
Options:

1) Open Market Operations

Gell IR 3T

2) Taxation

HITT

3) Public borrowing

AT & 3UR AT

4) Public expenditure

ST

Correct Answer: Open Market Operations
ol IR ST
Candidate Answer: [ NOT ANSWERED ]

Question 31.At room temperature, the metal that remains liquid is:

FAY & AT TR HlaT AN I T IHGEAT H Tl Bl @ ?
Options:

1) Mercury

URe

2) Platinum

colfeTd

3) Lead

a@rar

4) Zinc

EED

Correct Answer: Mercury
URq

Candidate Answer: Mercury
SILGy

Question 32.Which is known as carbolic acid?

FafefEa & Fia Feffos st F AR A AT AT g ?
Options:

1) Phenol

Tratrer

2) Ethanol

lwic)

3) Acetic acid

fafes ofas

4) Oxalic acid

sitrarfos vfds

Correct Answer: Phenol

retter

Candidate Answer: Phenol

retrer

Question 33.0n which river is the Tehri dam built?

ey sty fobay o7y o) T g3 & 2
Options:

1) Alakananda

3Tcleheloal

2) Bhagirathi

Frafdr

3) Ganga

I

4) Hooghly

gITer

2

Correct Answer: Bhagirathi
ENEIrsdy

Candidate Answer: Bhagirathi
EEIrdy



Question 34.With which country, India has the longest international boundary?

forar 227 3 12 1R Y For ol Heer (SO WA M g & ?
Options:

1) Nepal

AqTel

2) Pakistan

qiferedret

3) China

Gic

4) Bangladesh

FiaeeRr

Correct Answer: Bangladesh
Eleicy)

Candidate Answer: Bangladesh
Elceiel]

Question 35.Which State in India has the largest coastline?

AR & Thd ToT H T el dT @I § ?
Options:

1) Tamil Nadu

affer =g

2) Andhra Pradesh

T g&er

3) Gujrat

piERC)

4) West Bengal

qfegs serer

Correct Answer: Gujrat
ISR

Candidate Answer: Gujrat
IS

=l

Question 36.Jog falls in Karnataka is located over which river?

FeiTesh AT ST JuTeT fh A W E ?
Options:

1) Kaveri

Eacr

2) Godavari

Meralr

3) Saraswati

FIEIAT

4) Krishna

Eal

c
Correct Answer: Saraswati

&

Candidate Answer: Saraswati

TEIAT

Question 37.In which of the following market forms, a firm does not exercise control over price?

fRf@a & & 58 IR & aeR et A T e & 3rgad garg ?

Options:

1) Monopoly
TR

2) Perfect competition
T Fe

3) Oligopoly
3SR

4) Monopolistic competition
THIRHR gfadifar

Correct Answer: Perfect competition
o Fe
Candidate Answer: [ NOT ANSWERED ]

Question 38.Which one of the following areas of India is covered by tropical evergreen forest?

ﬁmﬁ@aﬁﬂmaaﬁa—mmmmaﬂﬁmgm%?



Options:

1) Semi-arid areas of Gujarat
TSI T 378 - S &1

2) Eastern Ghats

gdtare

3) Western Ghats

qf¥as ae

4) Madhya Pradesh

HET go2r

Correct Answer: Western Ghats
gfegst g

Candidate Answer: Western Ghats
gfegs g

Question 39.Which one of the following substances is normally found in urine?

Arfaf@d 7 & Hia-ar gere aHeaar 77 7 92T AT § ?
Options:

1) Blood proteins

TFd W

2) creatinine

forufefaer

3) red blood cells

STl T IR

4) white blood cells

2dd &d HIRER

Correct Answer: creatinine

fruRefaer
Candidate Answer: [ NOT ANSWERED ]

Question 40.The thymus gland produces a hormone called

arreE Iy 5 grHfea @ der s §, 3 T Fed &1
Options:

1) thyroxine

AR

2) thymosin

ATATET

3) thyronine

ARIRedleT

4) calcitonin

AT

Correct Answer: thymosin

AT

Candidate Answer: thyroxine

ARG

Question 41.Blood group AB has

T Y. o qHg H

Options:

1) No antigen

Vetrote 78T W@

2) No antibody

WSS TET T

3) Neither antigen nor antibody
AT Y Weroie 317 AT 1 WedaeT 91w S §
4) Both antigen and antibody
VESNT TUT WEASTEY At ITT ST §
Correct Answer: No antibody
VRIS 78T W

Candidate Answer: No antigen
VeCIole o781 W@

Question 42.Which Vitamins are those, if taken in excess can be dangerous as they are stored in the body?

T i fef@e § fSeeh et A= & dae & 3 eRR # Gaied &1 Siid & 31 aTcsh Je71d STefd § ?



Options:

1) B Complex
o, FEFTFE
2)Eand C
saurdr
3)BandC
Srqar

4) Aand D
Taas

Correct Answer: A and D
Taurs

Candidate Answer: B Complex
&, FFoEE

Question 43.Atomic explosion is triggered by

AT FERICH fehieh SaRT IR glar & ?
Options:

1) thermo nuclear reaction

ardrr Fgferer ifafwar

2) chemical reaction

TR 3fAfRar

3) controlled chain reaction

[GRIECE CCIEEIER)

4) uncontrolled chain reaction

a3 e @fhar

Correct Answer: uncontrolled chain reaction
AT e HfAfhar

Candidate Answer: thermo nuclear reaction

AT Sy feerR st

Question 44.The phenomenon of change in direction of light when it passes from one medium to another is called

STeRTRr T TR # Blet aTel TR T TSl ST a6 Ueh HILAH | 3 HILAH H gl ol § T el & ?
Options:

1) Propagation

FEROT

2) Reflection

TRTaceT

3) Refraction

39T

4) Dispersion

fazor

Correct Answer: Refraction

A

Candidate Answer: Reflection

RIdcieT

Question 45.Who has the right to decide whether a Bill is a money bill or not?

T AT ot &t iftreR fareenr § T Toer ager e § sruar 77 2
Options:

1) Speaker of Lok Sabha

de T 3TETaT

2) Prime Minister

T FAT

3) President

sgafa

4) Finance Minister

Taea &4

Correct Answer: Speaker of Lok Sabha
deh T 3TETaT

Candidate Answer: Speaker of Lok Sabha
e T 3TETET

Question 46.What is the name of portal launched by RBI recently to check illegal money collection?

IR (3rrenfieh) HeT FareoT A ARG e & AT grer & 7 Rard 8 31w sf0sar a e vnfira fovan| sam am g 2



Options:
1) Sahyog
AT

2) Sahayata
g dr

3) Sampark
HqIH

4) Sachet
Fod

Correct Answer: Sachet

Fod
Candidate Answer: [ NOT ANSWERED ]

Question 47.Which of the following is not an operating system

fafRa & Fia ATRRET dT 8§ ?
Options:
1) Android

9

ugs
2) Vista
fawer

3) i0S
ITS3nTy
4) Opera
3

Correct Answer: Opera

Kk

Candidate Answer: Opera
3T

Question 48.Which pair of the following Indians has been selected for grant of Raman Magasaysay Award 2016

AT & @ T SR SiYS Y THOT HIMRRY 2016 & GREHR o AT A7 317 ?
Options:

1) Bezwada Wilson and T.M. Krishna

S farewe 3R &wa, Fvom

2) T.M. Krishna and Arvind Adiga

EL.TH. F0T 3R 3RTIwe efzam

3) Arvind Adiga and Bezwada Wilson

4) T.M. Krishna and Satish Gujral

. T, FUT HR Gl ToRTe

Correct Answer: Bezwada Wilson and T.M. Krishna
7317 faeet 31 &Lua. Feon

Candidate Answer: [ NOT ANSWERED ]

Question 49.The discretionary powers of a Governor is limited in

TSI & TAqRITERR gl o AT & ?
Options:

1) Appointment of Chief Minister

e #H i g

2) Dismissal of the Ministry

HAOT Y ST

3) Dissolution of the Legislative Assembly
TIETTeT THT T 3T T

4) Assent to Bills

Faererent i whRT e

Correct Answer: Assent to Bills
Farererent i Ty e

Candidate Answer: [ NOT ANSWERED ]

Question 50.Who is the first law officer of the country?

&1 1 wuH Ay el #la § 2



Options:

1) Chief Justice of India

IR T JHG ITATERT

2) Attorney General

ARTITIETEr

3) Law Minister

fafer #ar

4) Solicitor General

#eT At Fa

Correct Answer: Attorney General
Ag=aTIarer

Candidate Answer: Solicitor General
HET =T el

Question 51.A is twice as good as B and together they finish a piece of work in 16 days. The number of days taken by A alone to finish the work is

B T 19T A Tl aTTcT I 1A HXcll § 3R 3 AT Teh 1Y 1 ek el i 1 16 foet 7 G T ol &, AN AdASA A 37ehell 3 H1H I Thelel foret # 97 3w ?
Options:

1) 20 days

20 fe=t

2) 21 days

21 feat

3) 22 days

22 feat

4) 24 days

24 &t

Correct Answer: 24 days

24 feaT

Candidate Answer: 24 days
24 feat

Question 52.The successive discount of 15%, 20% and 25% on an article is equivalent to the single discount of

TRl I IR A 15%, 20% 37 25% T Be fA=TTaied & & o ge & s gl ?

Options:
1) 60%

2) 47%
3) 49%

4) 40%
Correct Answer: 49%
Candidate Answer: 49%

Question 53.The numbers ¥, y, z are respectively proportional to 2, 3, 5 and the sum of x, y and z is 80. If the number z is given by the equation z = ax-8, then a is

AT x,y,z FHA: 2,3,5 % 39T & § 3R x,y,z &7 Dethel 80 ¥ AT HEAT 2 T AT 2 = ax-8 &1 alY @ FT HeT A1 HIfoI ?

Options:
1)6

2) 3/2
3)3

4)5/2
Correct Answer: 6
Candidate Answer: [ NOT ANSWERED ]

Question 54.If the ratio of cost price and selling price be 10:11, then the profit percentage is

Ife; v Fea AR Fashg 7o 10:11 % 31701  gY A emey wferera s gham ?

Options:
1) 1%

2) 10%
3) 5%

4) 8%
Correct Answer: 10%
Candidate Answer: 10%



Question 55.The price of rice has increased by 60%. In order to restore the original price, the new price must be reduced by

ATerel B FAT 60% TG 1S | el P Yof: FHeT FIAT W ollel & AT 78 HAct 1 Frctatr ot Tt e ?
Options:
1)

331W
3/

2)
371W
5%

3) 40%

4) 45%
Correct Answer:

37 : %
2 (v}
Candidate Answer:

371‘]}’
5%

Question 56.A man covers a total distance of 100 km on bicycle. For the first 2 hours, the speed was 20 km/hr and for the rest of the journey, it came down to 10
km/hr. The average speed will be

IS AT WFThel T 100 6.7, 1 gl o7 AT § | Tgel 2 HUE F 37! a1l 20 6.7 /e0er Telt § 31T A A7 7 37y a1t 10 FBr. A /a0er g Al §1 31 <t e
ffe ?
Options:

2) 13 km/hr

13 f. 7. /ger

3) 15 1/8 km/hr
15 1/8 .3, /ger
4) 20 Km/hr

20 .7 /ger

Correct Answer:

Question 57.Alipta got some amount of money from her father. In how many years will the ratio of the money and the interest obtained from it be 10:3 at 6% simple
interest per annum?

3rforeelT i 38 FcTol o 1§ Uiy 8| fohcel aut & 6% HIUROT s2Ts! 1 & W 36 4l 3R 36 R et arel sATT i 39Tt 10:3 &1 ST ?
Options:

1) 7 years

79§

2) 3 years

3ay

3) 5 years

5ay

4) 4 years

43§



Correct Answer: 5 years

59%

Candidate Answer: 5 years

59%

Question 58.If (x - 2) (x - p) = x2 - ax + 6, then the value of (a-p)is

I (x - 2)(x - p) = x2- ax + 6 A AY (a - p) T AT BT ?

Options:
1)0

2)1
3)2

4)3
Correct Answer: 2
Candidate Answer: 2

Question 59.

2 1
When 2x+; = 3, then value of x3 +E+ 2is

2 1 .
gfe 2x+§=3€f.6ﬁ X3+ +2 BIHM S

Options:
1) 2/7

2)7/8
3)7/2

4) 8/7
Correct Answer: 7/8
Candidate Answer: [ NOT ANSWERED ]

Question 60.

In a triangle ABC,if £A + £C = 140° and £A + 34B
= 180° then £A is equal to

ot anc BT A+ 20 =140° TF 24+ 328 = 180°, @ 24 frads s e

Options:
1) 80°

2) 40°
3) 60°

4) 20°
Correct Answer: 60°
Candidate Answer: 60°

Question 61.
If PA and PB are two tangentsta a cirlce with centre O such that £APE = B0® Then ,£AOP =

iz P4 A e el aea, o g o §, 0 59 var voft rant § 7 2 Ap8 = 8o°dl 2 0P =7

Options:
1) 40°

2) 50°
3) 60°

4) 70°
Correct Answer: 50°
Candidate Answer: [ NOT ANSWERED ]

Question 62.If tan (5x - 10°) = cot (5y + 20°), then the value of x + y is

Ife tan (5x - 10°) = cot (5y + 20°) AT X + y T AT AT o ?



Options:
1) 15°

2) 16°

3) .
225"

4) 24°

Correct Answer: 16°
Candidate Answer: 16°

Question 63.Which one of the following is the minimum value of the sum of two integers whose product is 24?

ar quirer, ToreTehT U 24 &, & ATl & ~gATH AT AT 7 8 v ghar ?
Options:

1) 25

2) 11

3)8

4) 10
Correct Answer: 10
Candidate Answer: 10

Question 64.The average marks obtained by a class of 60 students is 65. The average marks of half of the students is found to be 85. The average marks of the
remaining students is

60 ezt & ueh el & ured 37T F1 3T 65 §1 3T F 7Y faeanfiat garT Haae 85 37 ured fhT ST §, AW faenfiat ggrT ured 3iad 37 A Sife ?
Options:

1) 35

2) 45

3) 55

4) 65
Correct Answer: 45
Candidate Answer: 45

Question 65.

1 . 1
Ifx =+va + —,y = Va- —, (a > 0), then the valueof x* + y*-2x%y%is
va

va

1 = 1
A x = Ja+ TE3T'IT}-‘ = v’a—r, (a = 0),8Tar x* + y*- 2222 T Al AT hltA
v a

Options:
1) 16

2) 20
3) 10

4)5
Correct Answer: 16
Candidate Answer: 16

Question 66.
If x = Yx*+ 11 — 2 ,then the value of x4+ 5x%+ 12xis

afg x= VP +11-2 @, x* + 5x2 + 12x SIAM Farg|

Options:
1)0

2)3
3)7

4)11
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]



Question 67.Which of the set of three sides can't form a triangle?

TFATATT & @ it ofeTI3il arel isT & Y & 33T AET Tef FehelT & ?
Options:

1)5cm, 6cm, 7 cm

5.4, 6 WA, 7 T

2)5cm, 8cm, 15cm

5 @4, 8 T, 15 9.

3)8cm, 15cm, 18 cm

8?7, 15 4., 18 /..

4)6cm,7cm, 11 cm

6 @A, 7T, 11 3.

Correct Answer: 5cm, 8cm, 15cm

53, 8 4., 15 4.

Candidate Answer: 5 cm, 8 cm, 15 cm
5 3.7, 8 T, 15 Ja.

Question 68.
ABisthe diameter of a circlewith centre O and P be e point on its circumfemence, I f £P0A = 120° them the value of LPBO i5:

el Tt ST AT AB & 31 30T e 0 § TUT 38R TS W P U Tdegif | IS 2P0A = 120°F1cl  £PBO ST HE AT HITTA 7

Options:
1) 30°

2) 60°
3) 50°

4) 40°
Correct Answer: 60°
Candidate Answer: [ NOT ANSWERED ]

Question 69.A pilot in an aeroplane at an altitude of 200 m observes two points lying on either side of a river. If the angles of depression of the two points be 45° and
60°, then the width of the river is

200 3, &1 Feg o) 3541 aTel el Tt 7 urrere et 7T & Sl fhaRT o & g Swa 81 I St g3t & sraerareT #ioT 45° 3N 60° gY oY Ay Y <fisTS AT hifory

?
Options:

1)
200
(200+22)m

2)
(200 — 22ym
~3

3) 400 V3 m

t)u 0
(E)'m

Correct Answer:

tzon—%m

Candidate Answer:
200

Question 70.A solid sphere of radius 9 cm is melted to form a sphere of radius 6 cm and a right circular cylinder of same radius. The height of the cylinder so formed
is

9 {. 7). 3T 1ol T 3 Meleh HY A 6 T.HY. 3T ITell Th el ST ST &1 5H ThR Fo¥ Jileleh T FaT1s AT Hiford ?
Options:

1) 19cm

19 {3,

2)21cm

21 @A

3)23cm

23 {7

4) 25 cm

25 3.7

Correct Answer: 19 cm
19 {3,

Candidate Answer: [ NOT ANSWERED ]



Question 71.An arc of 30° in one circle is double an arc in a second circle, the radius of which is three times the radius of the first. Then the angles subtended by the
arc of the second circle at its centre is

Teh god # 30° 1 AT § S Ueh g@t god N A A I &, I g Jod I 3o ggel god 1 gt A dleT-[ol &, A g8 Joc o sheg & ©1T GIRT el Rel HI0T 4T g1am
?

Options:
1) 3°

2) 4°
3) 5°

4) 6°
Correct Answer: 5°
Candidate Answer: [ NOT ANSWERED ]

Question 72.Study the Bar diagram carefully and answer the questions. The Bar diagram shows the trends of foreign direct investment (FDI) into India from all over
the World (in Rs. crores).

TR I+ T [ & R 7 el geget frder (v 31 3ms) 1 vgfed @i aeifT 7T €1 IR I 1 SARTqae e HifsT 3R 9eat &7 3eax Ao |

2

L

15

i

[
1992 193 1934 1935 1336 1337

The sum of FDI of 1992 and 1993 is

ay 1992 3R 1993 # el YeweT fder 7 Foef AT foheletl & ?
Options:

1) 15.58 cr

15.58 #13

2) 15.85cr

15.85 #13

3) 15.22 cr

15.22 #3

4) 15.65 cr

15.65 313

Correct Answer: 15.85 cr

15.85 #8

Candidate Answer: 15.22 cr
15.22 #I3



Question 73.Study the Bar diagram carefully and answer the questions. The Bar diagram shows the trends of foreign direct investment (FDI) into India from all over
the World (in Rs. crores).

TR I A T faed & ok A el voget fder (v &1 31S) i gqfed i aRifar 3147 §1 IR I 1 SATTd eI ST 3R e &7 3eek AT |

25

30
25
}p I I
5
[3
1334 155 1335

Laax 1933 1337

=

The year which exhibited the 2nd highest growth percentage in FDI in India over the period shown is

22y AT 3T & 9IRa # v a¥ gaifas faeRl yoget Haer i o ?

Options:
1) 1993

2) 1994
3) 1997

4) 1996
Correct Answer: 1996
Candidate Answer: 1996

Question 74.Study the Bar diagram carefully and answer the questions. The Bar diagram shows the trends of foreign direct investment (FDI) into India from all over
the World (in Rs. crores).

IR I 3 TAE [Iea & AR ¥ FaRh deaet fder (v 3 3ms) i ggfea @1 axfi™r - &1 SR I &1 SeTqae Ieadel Hifor 3R g2l & 3eax Jfw |

3k

1]
25
il
5
(1}
1993 1934 1935 1495 1447

1993

=

The ratio of investment in 1997 to the average investment is

a¥ 1992 3R 1997 & TR 1T fAder &7 31eare ¢ |

Options:
1) 2:1

2)1:2
3)1:1

4)3:1
Correct Answer: 2:1
Candidate Answer: 2:1



Question 75.Study the Bar diagram carefully and answer the questions. The Bar diagram shows the trends of foreign direct investment (FDI) into India from all over
the World (in Rs. crores).

TR I A T faed & ok A el voget fder (v &1 31S) i gqfed i aRifar 3147 §1 IR I 1 SATTd eI ST 3R e &7 3eek AT |

3L

30
20
15
1
m
L3l 13 1334 155 1335 1337

The absolute difference in FDI to India between 1996 and 1997

¥ 1996 3T 1997 & o 9T 3 T 91T Fadel veaet foder 3 Hqut 3] et 1

Options:
1) 7.29

2)7.13
3)7.16

4)7.22
Correct Answer: 7.13
Candidate Answer: 7.13

Question 76.1n the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

FORSWEAR

Options:

1) SWEAR

2) OATH

3) ABUSE

4) FORSAKE

Correct Answer: FORSAKE

Candidate Answer: [ NOT ANSWERED ]

Question 77.1In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

INCLEMENT

Options:

1) RADICAL

2) MILD

3) HARSH

4) TYRANNICAL
Correct Answer: MILD

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) ANTICEPTIC

2) ANTECEPTIC

3) ANTICEPTIQUE

4) ANTISEPTIC

Correct Answer: ANTISEPTIC
Candidate Answer: [ NOT ANSWERED ]

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The doctor says that(A)/the patient will recover(B)/in few days(C)/No Error(D)



Options:

1)A

2)B

3)C

4)D

Correct Answer: C
Candidate Answer: C

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I do not think that(A)/I can cope up(B)/with this problem(C)/No Error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The mother(A)/yearns for(B)/her only child(C)/No Error(D)
Options:

1A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: A

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Since last year his condition has been
Options:

1) deteriorate

2) deteriorating

3) severely deteriorated

4) deterioratingly

Correct Answer: deteriorating
Candidate Answer: [ NOT ANSWERED ]

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Most children remain school between the ages of seven and ten.
Options:

1)in

2) under

3) at

4) inside

Correct Answer: at

Candidate Answer: at

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The quake also, mudslides on the outskirts of the city.
Options:

1) tempered

2) tampered

3) erupted

4) triggered

Correct Answer: triggered

Candidate Answer: [ NOT ANSWERED ]

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Wet behind the ears

Options:

1) Skiliful

2) Young and rich with experience

3) Young and without much experience

4) Hearing impaired

Correct Answer: Young and without much experience
Candidate Answer: [ NOT ANSWERED ]



Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Under a cloud

Options:

1) Sheltered from the sun

2) Under suspicion

3) Out in the open

4) Get wet

Correct Answer: Under suspicion

Candidate Answer: [ NOT ANSWERED ]

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Get the sack

Options:

1) Look for a sack

2) Find a sack

3) Get a call back

4) Be dismissed

Correct Answer: Be dismissed

Candidate Answer: [ NOT ANSWERED ]

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A person's peculiar habit
Options:

1) Trait

2) Idiosyncracy

3) Idiolect

4) Talent

Correct Answer: Idiosyncracy

Candidate Answer: [ NOT ANSWERED ]

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Speech delivered without preparation
Options:

1) Rhetoric

2) Oration

3) Extempore

4) Maiden speech

Correct Answer: Extempore

Candidate Answer: [ NOT ANSWERED ]

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who will do any job for anyone for money
Options:

1) Mercenary

2) Recruit

3) Hoodlum

4) Merchant

Correct Answer: Mercenary
Candidate Answer: [ NOT ANSWERED ]

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The more they earn, more they spend

Options:

1) The more they earn, the more they spend

2) More they earn, the more they spend

3) More they earn, more they spend

4) No improvement

Correct Answer: The more they earn, the more they spend

Candidate Answer: More they earn, more they spend

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The offerings were placed on the alter
Options:

1) on the altar

2) on the steps

3) on the platform

4) No improvement



Correct Answer: on the altar
Candidate Answer: on the platform

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Really speaking, no man is perfect
Options:

1) Strictly

2) slightly

3) vaguely

4) No improvement

Correct Answer: Strictly

Candidate Answer: [ NOT ANSWERED ]

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Mankind does not know this
Options:

1) do

2) had

3)is

4) No improvement

Correct Answer: No improvement

Candidate Answer: do

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

Practically every part of the coconut tree is used by man
Options:

1) each

2) most

3) any

4) No improvement

Correct Answer: No improvement

Candidate Answer: [ NOT ANSWERED ]

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Dyslexia is a perceptual disorder often occurring in persons of normal, or even above average intelligence. The reader is unable to perceive correctly what is on a
page. Letters and numbers often appear reversed: "b" seems to be "d","quite" is "quiet" and "from" is "form". The reader tends to leave out letters or words or insert
words or letters that are not there. Vowel and consonant sounds may be confused. Many dyslexics are left-handed or able to write with either hand. They often
confuse left and right. Learning to speak may also be delayed beyond infancy. The condition seems to be inherited. It may persist into adulthood. However, with early
recognition and specialized approaches to teaching reading, most dyslexics can learn to read.

Some researchers believe that latent dyslexia may be aggravated by the way reading is taught. The modern whole-word, or look-and-say, method seems to be more
of a hindrance to learning for dyslexics than it is for ordinary pupils. The phonetic method of teaching students to learn letters and sound them out appears to achieve
better reading results. The problem of words that cannot be sounded out - such as rough, laugh or through - is not solved by phonetics. These words must simply be
memorized. However, for children with dyslexia the problem can be compounded by the failure of parents or teachers to recognize the condition. This can easily lead
to emotional problems for dyslexic children, who cannot understand their failure to keep up with their classmates.

Dyslexia, often occurring in persons of normal, or even above average intelligence, is a
Options:

1) Conceptual disorder

2) Pathological disease

3) Perceptive disorder

4) Perceptual disorder

Correct Answer: Perceptual disorder
Candidate Answer: [ NOT ANSWERED ]

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Dyslexia is a perceptual disorder often occurring in persons of normal, or even above average intelligence. The reader is unable to perceive correctly what is on a
page. Letters and numbers often appear reversed: "b" seems to be "d","quite" is "quiet" and "from" is "form". The reader tends to leave out letters or words or insert
words or letters that are not there. Vowel and consonant sounds may be confused. Many dyslexics are left-handed or able to write with either hand. They often
confuse left and right. Learning to speak may also be delayed beyond infancy. The condition seems to be inherited. It may persist into adulthood. However, with early
recognition and specialized approaches to teaching reading, most dyslexics can learn to read.

Some researchers believe that latent dyslexia may be aggravated by the way reading is taught. The modern whole-word, or look-and-say, method seems to be more
of a hindrance to learning for dyslexics than it is for ordinary pupils. The phonetic method of teaching students to learn letters and sound them out appears to achieve
better reading results. The problem of words that cannot be sounded out - such as rough, laugh or through - is not solved by phonetics. These words must simply be
memorized. However, for children with dyslexia the problem can be compounded by the failure of parents or teachers to recognize the condition. This can easily lead
to emotional problems for dyslexic children, who cannot understand their failure to keep up with their classmates.

In Dyslexia, letters and figures often appear



Options:

1) Inverted
2) Blurred
3) Reversed
4) Clustered

Correct Answer: Reversed
Candidate Answer: [ NOT ANSWERED ]

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Dyslexia is a perceptual disorder often occurring in persons of normal, or even above average intelligence. The reader is unable to perceive correctly what is on a
page. Letters and numbers often appear reversed: "b" seems to be "d","quite" is "quiet" and "from" is "form". The reader tends to leave out letters or words or insert
words or letters that are not there. Vowel and consonant sounds may be confused. Many dyslexics are left-handed or able to write with either hand. They often
confuse left and right. Learning to speak may also be delayed beyond infancy. The condition seems to be inherited. It may persist into adulthood. However, with early
recognition and specialized approaches to teaching reading, most dyslexics can learn to read.

Some researchers believe that latent dyslexia may be aggravated by the way reading is taught. The modern whole-word, or look-and-say, method seems to be more
of a hindrance to learning for dyslexics than it is for ordinary pupils. The phonetic method of teaching students to learn letters and sound them out appears to achieve
better reading results. The problem of words that cannot be sounded out - such as rough, laugh or through - is not solved by phonetics. These words must simply be
memorized. However, for children with dyslexia the problem can be compounded by the failure of parents or teachers to recognize the condition. This can easily lead
to emotional problems for dyslexic children, who cannot understand their failure to keep up with their classmates.

People suffering from dyslexia are often
Options:

1) right handed

2) far sighted

3) ambidextrous

4) only left handed

Correct Answer: ambidextrous
Candidate Answer: [ NOT ANSWERED ]

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Dyslexia is a perceptual disorder often occurring in persons of normal, or even above average intelligence. The reader is unable to perceive correctly what is on a
page. Letters and numbers often appear reversed: "b" seems to be "d","quite" is "quiet" and "from" is "form". The reader tends to leave out letters or words or insert
words or letters that are not there. Vowel and consonant sounds may be confused. Many dyslexics are left-handed or able to write with either hand. They often
confuse left and right. Learning to speak may also be delayed beyond infancy. The condition seems to be inherited. It may persist into adulthood. However, with early
recognition and specialized approaches to teaching reading, most dyslexics can learn to read.

Some researchers believe that latent dyslexia may be aggravated by the way reading is taught. The modern whole-word, or look-and-say, method seems to be more
of a hindrance to learning for dyslexics than it is for ordinary pupils. The phonetic method of teaching students to learn letters and sound them out appears to achieve
better reading results. The problem of words that cannot be sounded out - such as rough, laugh or through - is not solved by phonetics. These words must simply be
memorized. However, for children with dyslexia the problem can be compounded by the failure of parents or teachers to recognize the condition. This can easily lead
to emotional problems for dyslexic children, who cannot understand their failure to keep up with their classmates.

Dyslexia may

Options:

1) be noticed during infancy

2) last till childhood

3) persist into adulthood

4) end when one goes to school

Correct Answer: persist into adulthood
Candidate Answer: [ NOT ANSWERED ]

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Dyslexia is a perceptual disorder often occurring in persons of normal, or even above average intelligence. The reader is unable to perceive correctly what is on a
page. Letters and numbers often appear reversed: "b" seems to be "d","quite" is "quiet" and "from" is "form". The reader tends to leave out letters or words or insert
words or letters that are not there. Vowel and consonant sounds may be confused. Many dyslexics are left-handed or able to write with either hand. They often
confuse left and right. Learning to speak may also be delayed beyond infancy. The condition seems to be inherited. It may persist into adulthood. However, with early
recognition and specialized approaches to teaching reading, most dyslexics can learn to read.

Some researchers believe that latent dyslexia may be aggravated by the way reading is taught. The modern whole-word, or look-and-say, method seems to be more
of a hindrance to learning for dyslexics than it is for ordinary pupils. The phonetic method of teaching students to learn letters and sound them out appears to achieve
better reading results. The problem of words that cannot be sounded out - such as rough, laugh or through - is not solved by phonetics. These words must simply be
memorized. However, for children with dyslexia the problem can be compounded by the failure of parents or teachers to recognize the condition. This can easily lead
to emotional problems for dyslexic children, who cannot understand their failure to keep up with their classmates.

The problem of perception can be compounded by the failure of parents and teachers to
Options:

1) provide treatment

2) recognize the condition

3) correct the child at infancy

4) understand the child

Correct Answer: recognize the condition

Candidate Answer: [ NOT ANSWERED ]






